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o & B HEGR)  HEG% ZE & @ (%) THH
1 X ] & 281, 040 23.0 1 24,509, 142 26.2 87
2 | J v — 7 198, 580 16.3 2 17,223, 246 18. 4 87
3 | h - F* — H 143,276 1.7 3 8, 651, 081 9.3 60
4 Y A & 3 130, 030 10.6| 4 1,923, 443 8.5 61
5 | -] 104, 745 8.6 7 5,221,919 5.6 50
6 = e 46, 508 3.8/ 6 5,362, 848 5.7 115
1 B & & 44,915 3.7 5 6,728, 124 1.2 150
8 =z > & 31,136 2.5 8 3,594, 262 3.8 115
9 AN z & 26, 857 2.2, 10 1,567, 642 1.7 58
10 | 7 1 b 2 23,317 1.9 14 195, 739 0.9 34
11 Jz=Zv IR (H) 21, 870 1.8 15 494, 640 0.5 23
12 7 A 3 — 17,585 1.4 11 939, 006 1.0 93
B A — A~ z 13,920 1.1 18 162, 594 0.2 12
4| 2 48 —F — R 9,020 0.7 13 819,018 0.9 91
% v 7T v (%) 1,820 0.6 16 490, 644 0.5 63
16 | » El H o H 1,145 0.6 12 853, 632 0.9 119
17 | ( 53 ) 6, 730 0.6 9 1,719, 662 1.8 256
8 7 3 v+ 35 R 0,431 0.4 17 347,512 0.4 64
9% 35 v (%) 3, 869 0.3 19 147, 312 0.2 38
20 T =2 H (#&) 1,000 0.1 22 30, 780 0.0 31
21 | A =z — 680 0.1 20 113, 940 0.1 168
22 Fo &Y (%) o195 0.0 21 33, 750 0.0 66
23 | 5 ) 7 425 0.0 23 30, 132 0.0 11
24 | 7 v R 21— L4 226 0.0 24 23, 544 0.0 104
25 | i T L - 200 0.0 26 10, 800 0.0 94
26 B b 122 0.0 25 11, 556 0.0 95
27 | ( #& ) & 100 0.0 28 6, 480 0.0 65
28 X + L F 7 o0 0.0 29 4,320 0.0 86
29 v v v (&) 10 0.0 31 648 0.0 65
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i & 8 HEG)  HE D & @ (%) FHBE
0 K 7 C & ) 10 0.0 30 1,620 0.0 162
31 | & ( % ) 1 0.0 27 10, 800 0.0 10,800
T o 8 Y % 45, 460 3.7 3 1, 408, 860 1.5 31
2 £ o oY 1 37,233 3.0 1 2,509, 823 2.7 67
3 F o MY R 11,569 0.9 2 1,745,820 1.9 151

] Y it &t 1,221,395 100.0 93,494,937 100.0 71

(84)

o & B HEGH  HEO% ZE & @ hE (%) THH
T N3 ( &% ) 444 25.5| 3 48, 211 2.8 109
2 'B B B (&%) 336 19.3 6 14,515 0.8 43
3 3 v ( #% ) § 160 9.2 1 1,222, 452 69.8 7,640
4 ASraT (8) 94 2.4 4 44, 388 2.5 472
5 bR T Y (#%) 12 4.1 5 17,496 1.0 243
6 7 F R (8%) 46 2.6 2 123, 552 1.1 2,686
1 % ( #® ) 24 1.4 17 14, 256 0.8 994
8 ANRNYTA4T7452 (8 1 0.1 8 2,160 0.1 2,160
T ® o i &% WY 063 32.4] 1 264, 643 15.1 470

73 Y & 1,740 100.0 1,751,674 100.0| 1,007

(2Dt

o % B HECK/8/E) HEO ZH . 2 @ k(%) T
1 £t = & 939 86.9| 2 99, 206 217 63
2 R 2 C 8 68 6.3 1 61,992 22.1 912
3 | H PN 24 2.2) 5 2,074 0.8 86
4 I L (8 ) & 6 0.6 4 4, 860 1.8 810
9 r « #& ) 3 0.3 3 18,900 6.9/ 6,300
1 T OB EEY 40 3.7 1 125,928 46.1| 3,148

T ONE 1,080  100.0 272,959 | 100.0 253
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